RAIL MOUNT

Instruction Manual
Bedienungsanleitung
Mode d‘emploi




GENERAL ASSEMBLY INFO AND HOW TO

PROFILE NUT

MTSIM RAIL MOUNT INSTRUCTION MANUAL 2



UNIVERSAL CONNECTOR

<&— Slot nut M8

Q& lm
7
i

N

. ..w....ﬂ.( \W\
<L \\\mw.y
N

BOLT DIMENSIONS AND HOW TO MEASURE THEM [mm]

25

35

3

MTSIM RAIL MOUNT INSTRUCTION MANUAL



PARTS

1x

2%

Slider

[dimensions in mm / different scales]
No extra or spare parts listed!

MTSIM RAIL MOUNT INSTRUCTION MANUAL 4






ASSEMBLY

Attach the sliding rail under the front edge of your desk.
Only for desks with a solid wooden top!

Please only use screws intended for the

specific wood type and thickness.

We advise you to ask an expert I
for installation advice.

]

screws not included

desk top

GANI/AND

ol
gA§
52

max. b mm M

Before attaching the sliding rail to the
desk make sure that it is possible to

slide in the mounts in the rear slot.
If not have a look at the trouble
shooting section.

MTSIM RAIL MOUNT INSTRUCTION MANUAL 6



slot nut M6

7

MTSIM RAIL MOUNT INSTRUCTION MANUAL



slot nuts

-——— 270 mm OR 420 mm

.

threads on this side

universal
connectors

1. /(((
@
@ (@

M8x30

MTSIM RAIL MOUNT INSTRUCTION MANUAL

8



threads

=g

R

slot nut

M8

=i

M

T>

turned

cap

9

MTSIM RAIL MOUNT INSTRUCTION MANUAL



2X
M8x16
flat head

mounting plate
as ordered )

MTSIM RAIL MOUNT INSTRUCTION MANUAL 10



MTSIM RAIL MOUNT INSTRUCTION MANUAL 1



side view

MTSIM RAIL MOUNT INSTRUCTION MANUAL 12



slide into the ,

rear slot/ 2

details

MTSIM RAIL MOUNT INSTRUCTION MANUAL 13



|
turn the knobs

T =
T
Q for setting

14

MTSIM RAIL MOUNT INSTRUCTION MANUAL



PLACE STOPPERS

slot nut
M8

(

A
@,
set screw

M8

i
il

(1 |
-

=

1 &)

move stops
at your
favourite
position

I
I

[
I

1
1

MTSIM RAIL MOUNT INSTRUCTION MANUAL



ASSEMBLING AN EXISTING TABLE MOUNT

unscrew

top plate

remove

16

MTSIM RAIL MOUNT INSTRUCTION MANUAL



Replace the 70 mm profile
with a 110 mm profile or a

160 mm profile (long version). |

See also page 8 ff.

turned

MTSIM RAIL MOUNT INSTRUCTION MANUAL

17



2%
M8x30
flat head

T\ For assembling this
‘ L\Q parts have a look
at page 7.

MTSIM RAIL MOUNT INSTRUCTION MANUAL 18



TROUBLE SHOOTING

If you can not slide in the mounts after you have attached the sliding rail to
your desk try to slide in only the shown parts (possibly before attaching the
rail to your desk].

\L‘ 5] [H] [H] 5] ‘4=P [H] [H] [H] [m] ‘J‘
o o (=) ooy oo (=) < [0
T ] OO ) Bj T o o O 5] J

A s

Then assemble
this way:

P <|>‘ ‘<|> P

4x
M6x20
flat head
black

1] &

1] &l

2%
star knob

MTSIM RAIL MOUNT INSTRUCTION MANUAL 19



- - - -

1] [l
9

If the Rail Mount
does not run
smooth loosen
and tighten the red
marked screws.

15-12-2022



A\ WARNING NOTICES

CAUTION! Check before usage if all screws are tightened.
CAUTION! Check before usage that the mounting plate is screwed on tight after making height adjustments.

DANGER: Contains small parts not suitable for children under 3 years.
Only suitable for children over 12 years and adults.

All MTSIM products are hand assembled and quality checked.
The mount is designed for usage only with a computer controller (f.e. joystick or throttle).
We exclude liability if the product is used for purposes other than intended.

MTSIM shall be liable for damage arising from causes other than the detriment to life, body and health only
to the extent that such damage arises from wilful misconduct, gross negligence or the culpable violation of
a fundamental contractual obligation on the part of MTSIM or a vicarious agent (e.g. the delivery service) of
MTSIM. Any further liability for damages shall be excluded.

If you have safety concerns or questions regarding assembly, contact us under info@mtsim.com or visit
www.mtsim.com/en

A\ WARNHINWEISE

VORSICHT! Achten Sie darauf, dass vor Benutzung alle Schrauben immer fest angezogen sind.
VORSICHT! Achten Sie darauf, dass die Befestigungsplatte nach der Hoheneinstellung fest angezogen ist.

GEFAHR: Nicht fir Kinder unter 3 Jahren, Kleinteile - Verschluckungsgefahr!
Nur fiir Kinder ab 12 Jahren und Erwachsene

Alle Produkte der Firma MTSIM sind handgefertigt und qualitatsgeprtift.

Die Halterung ist nur zur Verwendung in Kombination mit einem PC Controller (z.B. Joystick oder Schubreglers)
ausgelegt.

Wir Ubernehmen keine Haftung flr zweckentfremdete Benutzung.

FUr andere als durch Verletzung von Leben, Kérper und Gesundheit entstehende Schaden haftet die MTSIM
lediglich, soweit diese auf vorsatzlichem oder grob fahrlassigem Handeln oder auf schuldhafter Verletzung einer
wesentlichen Vertragspflicht durch MTSIM oder eines Erflllungsgehilfen (z. B. dem Zustelldienst) der MTSIM
beruhen. Eine dartber hinausgehende Haftung auf Schadensersatz ist ausgeschlossen.

Bei Fragen zur Sicherheit oder Aufbau unserer Produkte, wenden Sie sich an info@mtsim.com oder besuchen
unsere Website unter www.mtsim.com

A\ NOTICES D'AVERTISSEMENT

ATTENTION! Veérifiez que toutes les vises sont correctement serrées avant utilisation.
ATTENTION! Aprés ajustement en hauteur de la plague de montage, vérifiez que les vises sont correctement
serrées avant utilisation.

DANGER: Contient des petites piéces susceptibles d‘étre avalées. Ne convient pas aux enfants de
moins de 3 ans. Utilisation appropriée pour enfants a partir de 12 ans et adultes.

Tous les produits MTSIM sont fait main et on passés les contrbles de qualité.
La fixation est congue uniquement pour une utilisation avec un joystick ou une manette des gaz.
Nous dégageons toute responsabilité pour toute utilisation autre que celle prévue.

Pour les dommages engendrés autres que I'atteinte corporelle, a la vie et a la santé, MTSIM n’est responsable
que dans la mesure ou ces dommages reposent sur un acte intentionnel, une faute lourde ou la violation
fautive d’une obligation contractuelle essentielle par MTSIM ou par des agents délégués par MTSIM. Une
responsabilité allant au-dela en dommages et intéréts est exclue.

Si vous avez des questions concernant la sécurité ou I‘assemblage, contactez-nous a info@mtsim.com ou
visitez www.mtsim.com/fr/




